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he Interim Bud ojected for the year 2019-20
As per the In

pet 2019 the fiscal deficit pr
l.

; b) 3.2%

a) 3.1%
/})/15%

o
The historic goods and cervices tax (GST) that a5 rolled out on |
@ subsumed which of the following indirect taxes’?

b) Service Tax

c) 3A%
July, 2017, bas

Central Excise Duty

1)

c) Value Added Tax d) Allof the above

3. The Kyoto Protocel pertains io

a) Banning the hunting of whales b) Reducing greenhiouse 823 cmiss.ons

c) Securing the relcase of circus d) Disailowing civilian airports  for
znimals military 258

1. \Which among tie following 15 the home cotniry of the company AB Veivo

a) UK b) USA

c) Switzzeriand d) Sweden

5. Accerding to World Eeonomic Forum's Globai Gender Gap Repert 2018, India has
been ranked ___ingender eguality

a) 160" Ay 1047

c) . 106™ d) 108"

6. RERA is 2 rezulatory body esteblished racantly ta ragulate the

a) Retai) sec1or 5} Real Cstats sacior

c) Rurzl sector d) Nenc of the above

[ NPA is an acrorym for

2) Non Plan Assessment ~b7T National Performance Asset

c) New Performance Assst d) Nea-Performing Asset
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S. Which country grabbed the first spot in Test Cricket in latest annual ICC rankings
(2619)?
A~ India - b) Australia
c) New Zealand d) South Africa
9 International Day of Persuns with Dizabilities is observed on
a) Januarv 3 b) January 3
e) December 3 d) December 3
10. Which amongst the fotlowing is ranked as the world's largest global corporation 23
per Giozal Forume 336 & 2018?
a) State Grid China ‘ b) Tovora Moicrs
<) Apple d) Walmas
il Tie punch line “Life’s good™ is of which of the foilowing company?
a) Apple b) Samnsung
11}
4) Wipro
= LG || OTESMYFOOT.COM 9 Wip E
W W.nOTES m/YfO T.cOM
12.  Who anong the following is the current chaiman of NITI Aayog
. nitabh Kant
2y Narendra Modi b) Amitabh

ibek Deboroy
¢)  Raieev Kumar d) Bibek De

. % gt t TL\ . i.
‘_iull-_)-)k, the ngJ | cconoiu} s o Jrety n

3. Accerding to IMF World Ceoromis :
2019 at :‘

b) 4.5%
a) 5% "
d) 1.5% i
c) 4% |
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14, As per the Iatca survey condaiind on eeaployeaent by NSAY, fndin's —— -
hit fourdlecade Wigh of R R EAT yment
3) LY T
&) 6 1% 5 8%
'.\_'j 4 Business Leader of the yvear suard 1018 ineieded By The Formmriie Fimss Ban Rows
coafermed upon
al Y C Deverhiwar B)  Rabut Rajsj
¢) Sanjiv Batay ' $H  Maotemn Anhani
6. Which among the following 15 the top phanvacestical company - obaily, Sased se
revenue” ‘
1]
2) Iohnson & Johason LoTEEMYEOOT.comq  ©)  Pahe
v
S Plzer d) Novarus
W ROTESMAFOrT.cOM
7. Whd among the following is s2id to have davised the concept of blackchain Based a2l
currency bitcoin?
sy~ Eion Musk b) Satoshi Nakamom
c)  Stuart Haber d) JackAa
1% Which of the following can activaic Autophagy?
- a l‘ .’
3)  Fusting b) Overeaiing
. . "i”-:_"-.'-“
¢ I-ghcarb dier d; Allotthzan
19.  1HDI stands for
alic Adiie)  Hunan
a)  Income Adjusted Hunan Development Irdex b)  Inequalioy ;
D velopinent Iadax
© Adisted  Human
¢) Insurance Adjusied Human Development d)  Immunity

Developrent index

[ndax
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0. Which of the following tax is levied at every stage of production?
A VAT b) Income Tax

a)  Custom Duty b) Nore of the above

21. Rahim ranked " from the topand 38™ from the bottom in the class. How many students

are thare in the class?

a) 45 b) 46

Y 47 4 48

22. Ifthe seventh day of a month is three days earlier than Friday, what day wi [1it be on the |

ninct;cn}h day of the month?
S Smday ) b) Monday
¢) Tuasdar || ~-rvRoaT.com d) Wednesday
W W ROTESMYFOOT.cOM

23, If the number (27*3) is divisible by 3. Theinissiag digit (*)is

a 1 b 2

< 3 ' d 4

24, A’ssalaryis20%iowerthanB’s salary. Howmuchpercent isB'ssalaryhigherthan A’s?

a) 25% b) 15%
Q) 20% d) 333%

25, 1/4" ofarodisyellow. 1/§%is7ed, 1/12%is green, and 1/16" isblue and the remaining 138

em is black. The leagthofthe rod inems s

2) 195 b) 192

g

=

26. Theercaofacizcular ficldis 154 sq.m. The distance from thecentretoth

is %’3’ uu |

>
1 %F
v Tm ;f’ “b) 8m

€ 9m d) 10m

e field
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27. The total age of seven frie

would be
by 23
- d) 25
c) 24
Directions for Q18- (%30 - Findoutth
‘9\1» l
28. )}.lc.ﬂ,b._
a) &0 by~ 65
J) 68 d) 70
e
29. 1,1,2,3,, 813
a) 3 b) a
L3 4 8
3
’ -
. -
30. 71537 138 281
2) 6 b} 63
c) 66 - ;

Directions for Q31-32: If x=+,
answer from one of the following options:

3. 8x2+12+3-9

§ayeir—348

3 a2 xit—d b) 9573

a) 9343

¢) 4073 ”‘7'% g 1

32, 1243-9+8+2

z2) 9573 b) il

c) 403 d) 129
-

enumber thatwonld come nextintheseriesinplacenf

ends is 147. The average ge of the friends afler 4 years

AP R T an k) =
e 1,‘{‘

/

Yo

A

+ ==, —=+and+=X Then ;solve the following and select the

Ro DM Wi
Qx S\ +3D
b 373

ug X33
Mo X2
&1 Q¥FAL
/
Q¥ A71*=
Qazxi|z—
LTS o

33. A clock seen through a mirrcr reads a quarter to nine. Find out what is the actual

time?
a) LIS b) 9:30
c) XI5 d) 9:15

Scanned with CamScanner



6

Directions: Q. No. 34 - 37 Refer to the following chart and solve the questions based on
jt. The figure below represents sales and net profit (in INR crore) of MAC Ltd, for five years
from 2014-2015 to 2018-2019. During this period, the sales incr=ased from INR 100 crore to
INR 680 crore. Conespondingly, th= net profit increased from INR 2.5 crore to INR 12 crore.

Net profit is defined as the excess of sales over total costs)
\

-&- Sales  —*=Net proft

ARXAL

071
100 1

[+

2014-15
2015-16
2016-17 ¢
2017-18
2018-19

a) 2015-16
c) 2017-18 <dy5018-18

. R eved
35. The highest perccntage growth in net profit, relative to the previous year was achi=y

in
b) 2017-18

a) 2018-19 .
c) 20!6-17 d) 261516

: =d the highest
36. Detining profitability as the ratio of nat profit to sales. MAC Ltd record

profitability in

af"2018-19 | rs,  D)2017-18

¢) 2014-15 | d) 2016-17
W . RO TESIYFOOT.cOM
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37. With profitability as defined in the question above, it can be concluded that:

a) Profitability is non-decreasing b)  Profitability is decrzasing during the
curing the five years from 2014-15 five yzars from 2014-15 10 2018-19
o 2018-19

¢) Profitabiiity remams  coastant d) None
during the five vears from 2014-15

w0 2018-i2

3R Following is an incomplete set of pafterns, which are the problem fionres and
followed by set of five answers choice, marked A, B, C and D. Find ou: the Sest
answer wﬁh‘mn tit to complete the set.

- 1010
;® ©;©
o]@,

0|00

A B [ D

J

©

39. Which of tha following diagrams comrectly reprasenis Elephants, Woivzs, Animals?

ok O
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10. The main statement is followed by four sentences. Select the pair of sentences that
rzlate Jogics.ly to the given statement,

AMain Statement: Either Sita i€ sick or she is careless,

A. Sita is not sick.
B. Sitais not careless.
C. Sitais sick
D. Sitais careless.
<7 AB b) AD
<) BA d) DA

The Naticnal Rural Health Mission was first passed in

2503 | b) 1991
OTESMYFOOT.COM
2314 ; 2000
WV ROTESmY fO0T.cOM
42, latrogenic discases are diseases spread through
Hospitals and Physicians b) Mosquito

\/ Insect d) Water

43.  Which of the fellowing is known as “Faiher of Public Health™?

Tuherculosis b) Cholera

John Srow @’ﬂmis Pasteur

32, 1fachiid loszs his hands and s unatide to work, it is cailed as- ‘
- \

; (p
atrei 2é Baby Syndroms a) Impairment ,\b/

b) Handicap @ _dy-Disability

Scanned with CamScanner



e o A Wid witan S P LB ot s Ve N T . =

R LRl B R TR S A N Ry e

st S BB

L S e il L I8 @ % W e THY e e o $IA A e e, B K e B o, 4L ARG AT/ 1D ) R

9

s have not been eliminated in India?

45. Which of the following discasc
b) Polio

2) Guinea worm
d) Maternal and Neogata) Tetary

& Measles D.
16.  Odd’sratio is indirect estimate oft
b) Preva
a)  Relative Risk ) fenee
d) Incidence

¢)  Auributable Risk

47. Sex ratio in India is calculated as:
b) 1000 femalz per 1 mals

a) | maleper 1000 female.
d) Males per 1000 females

9/ Fen 1les per 1000 male

48. Catastrophic expenditure on health is caicuiated on the basis of

a)  Ontcfpocket expenditre: Houschold b) Out of pocket expenditure:
Expendinure Education Expenditure
c)  Out of pocket expenditure: Non-essentiz! d) Out of packet expendinurs:

Household Expenditure ‘ ) Government Expendinire

49.  The analysis which is bas2d on the principls that generally a small proposticn of itams

accouat for a large proportion of cost and vice versa is:

8)  ABC analysis b) VED analysis
¢) HML @) SOS

L

0. The fallowing is not a method of firanzing h2aith care syst=ms

2} Directe: curol-packet payinents b) Genera! taxation

€)  Social health insurance d) None of the above

51.  Swacch Bharat Mission aims to achieve Swacch Bharat by:

a)  January 1, 2018 b) November 14, 2020
c)  August 15,2020 —&y October 2, 2019
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32.  Which among the following is (he largest cawse of death in [ndia?

Y Typhoid b) Malaria
Q) Tuberenlosis @) Lepeoay

53, Dyug Abuse Prevention Programmes come mder which minietry?

WY Ministry of Health and Family Welfare b) Mimistry of Serial frpies and
Emperverment
c) Ministry of Science and Technology d) Ministry of Environes et

34, Indian Modical Council Act, 1951 is being replaced by

a)  National Medical Mission " b) Medical Council 6f Inia

¢)  National Medical Commissos ) National Medical Seraces

55.  The Infant Milk Sudstiture (IMS) Act which regulated production srppiy and &ribation
of faeding bottles and infant food was passed in:
a) 1999 b) 1992
c)y 1980 d) 1982
56. An outbrezk of multiple cases spread 2cross countries is known as:
sy~ Epidemic ' b) Endamic
c) Pandemic d) None of the above
57.  Which of the following Act is most useful for improving sex ratio?
z)  PCPNDT Act P;_@Jﬁ? Act
¢ DBMW A d) FSSAl
Government of India and ladkustey 12 astablish

58. The autonomous body sct up jointly by
end operate accreditation structure in the country s

a)  Bureau of Indizn Standards (BIS) b) Quality Council of India (QCN

) o . : federation for
¢)  National Accreditation Authonity (NAA) N ;{qg;‘l’x‘l‘\cc:: Accredication (ICHA)
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39.  Which Sustainable Development Goal is directly related to health?

a) G‘:a' ’ b) anl 14

60. Studying health conditions in terms of time, place and person is called-

a) Case control studv /M/ Descriptive study
c) RCT d) Cohort study

61. Which of the following is an antonym of the word “zenith’

a) Acme ShyY<Apex

c) Nadir d) Pinnacle

€2 Which word is used for a parson who is 2asily deceived

a) GCullidble b) Haughty
c) Imwrepid dj Audacious

63. The study of the origin of words is called as-

—="Etymclogy 5) Anthropology
¢} Epistemology dj Analogy

64. Fili in the blank with the: correct cption-
Hc is too intelligent ____ boys of his age
a) Than
¢} As

b) For

d) Are

_65. Two words having the same pronunciation but different meanings, origins, or

speliings are called as-
—=; Homophcne by Homogenous

¢} Homozraph d} Homaologus

PRI RIS VA v 470 B4 W e DAAIDRDON UMD | LSt ALTRTITE (LRI MO TARA L ENT AN v mt««ummmmmwxmaw.ﬁ,wmm Ay
WANU.&M-;:: i
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66. Which one of these is an incorrect sentence?
1. The andience is anxious to hear the singer.
2. If1 had known this yesterday, [ will have helped him.

3. You should avoid going out alone.
1. One of the members i3 not ready with the proposai.

by 2

c) 3 d) 4

67. The phrase ‘to play the devil's advocate’ means-
b) To create unrest for personzl

gains
d) To present a connter
argument for debat=

a) To hatchaplot

c) To icak out a secret

68. Complete the scntence- Despite his best cfforts to conczal his ans=r,

a) We could detect that he was very happy b) He succeeded in
camouflaging his emotioas

d) He failed to give an

¢) People cams 0 kKnow that he was
impression of his agony

annoyed

Read the passage and answer the questicn-

essing but it can zlso be great curse, for wh
if we use it carelessly, make cur

Speech is a great bl ile it helps us to make

known to cthers, it can also,

nderstood. A slip of the tongue
y instcad of winning & friend. Unwittingiy, we

our intentions and desires
attimdes compiciely inis and the use of unusual er
confusing words may crszle an cnem

-d which bears a different meaning 1o our listener from what it does to

riay use a wo
¢ thoughts, but it demands

men of eur own class. Thus, speech is a gift to express ou

careful handling.

ge, the best way (o win a friend is to avoid-
b) Verbosity in speech
d) Pomposity in speech

69. According to the above passa
a) Irony in speech
c) Ambiguity in speech

|| NOTEEMYFOOT.COM
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a)
c)

13

Fiasco refers lo

) n) Failure
Festiva

Misfortune
Ridiculous Plan My N
This legend has been from father to 500

| j=d out

Handed in h) Handz=d on
Handed over d) Handed down

- T 3 tpley = -
Instead of starting the meeting with usual -—--— the participants NRSCSry came

to the main issucs

A kno' y problem b) Small talk

Soft wuch d) A rough guess

Choose the option which is closest in meaning to ITOMAGE

Excessive humiiity ~b5) Show respect and reverence
Pevarty d) lasincere flattary |

Choose the option which is nearest in mesning ta SADISTIC
Smart b) Malicious
Drive pleasure from inflicting pain on d) Depressad

cthers

Keats and Shelly were posts of ths same periad; they were

Contemporary b} Colleaaue
* -
Associate d) Co-writer
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Read the passage and answer question Q76-Q80:

The greatest enemy of mankind, as people have discoversd is not science, but war. Science

merely re‘ﬂcc't hl::: pch:r:niling social forces. It is found that, when thers s peace science is

construchve; W t s war, science is perverted to dest

science gives us do not necessarily cause w::lhey make *:::;e::b?m::?;‘: ‘hid.l
has brought ns to the door step of doom. Our main problem, thersfore, is not 1o curb _-,c.g:;.:
to stop war- to substitute law for force, and intermational government for anarchy in the relations
of onc nation with another. That is a job in which everybody must participate, incloding 'he
scientist. But the bombing of Hiroshima suddenly woke us up to the fact that we havz very lintle
time. The hour is late and our work has scarcely begun. Now we are face to face with an urgem
question- “an education and tolerance, understanding and creative intelligence run fast enough to
keep us  br=ast with our own mounting capacity to destroy? That is the question which we shalj
have 1o answer one way of the cther in this g=ncration. Science must help o3 It wwiving &t the

answer, but the main decisicn lies within gurselves,

76. According to the writer, the real eoemy of mankind is not science bui war, beause

a) Sci=nce merely invents the weapens b) Science during Wwars becomes
with which war is fought destructive

¢) The wecapoas that science invents }(Thc weapons inventsd by science &2
necessarily leads to war pot cause war, though thess make &

more destructive

77.  The expression ‘bring to the docr st=p of doom’ means

. - threshold 6f s Jestiny
sy Camy clase to death and destructicn b) Lead to the thresiic &L a new destin

uiee i i ivity d) [ntroduces o an unorediciabls Jestity
¢) Induige in 2 ruinous activity ) !

. 1 A ‘h sa e?
78. Which of the following is opposite in meaning to the word ‘anarchy’ in the passag

a) Law and order by Political dominance

) . ameunal harmony
c) Economic prospenty d Com
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79.

a)

c)

|| DTEEMYFOOT.COM
' W ROTESMAFOST.cOM
| 15
The phr.asc ‘our work has scarcely begun' implies that our work
b)  Has only just begun

Has not yet be un

Has becn half-way through d)  Has begun, but net yet completad

G
The expression ‘keep us abreast’ in the passage means
Kecp at a distance b) Keep updated
Hold out a challange .8y~ Prevent from escaping

A committee of 6 is to be seiccted from among 6 boys and 6 girls. In how many
p

ways caa this be done so as w include just one girl? gr} ,
[ 4

i20 b 70 /g‘g/

36 & 110

A card is drawn at random {rom 52 cards. The probabilitv of getting a red eard ar an

“

ace is:
12 « By 16
15726 T Ay

A and B together can do a piece of work in 30 days. A having worked for 15 days, B
finishes the remaining work 2lone in 44 days. In how many days shall B finish the
who'e work alone? o

30 days b) 60 days

40 days d) 70 days

A large tanker can be fiiled by two piges A 2ad B in 60 minutes and 40 minutes
respectively. How many minutes will iz take 1 fl! the tanker from empty statz (i B

is used for half the time and A and B £i!l it tog=ther for the other half?
30 mins b) 27.5 mins

20 mins d) 15 mins (\30 &U‘)
a0
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85. A pcison sells 36 oranges a rupee and suffers a loss of 4%. Find how many oranges
a rupee should be scld to get a gain of 8%7

a) i ' b) 32

¢y 35 d W

$6. A train iravelling at 36 kmph crosses a platform in 20 seconds and a man standing
on the platfoan in 10 seconds. What is the tength of the platform in'meters?

a) 240m : b) 100m

¢) 200m d) Wm

87. Father's age is 4 times that of his son's age. 5 ycars back, it was 7 ii;nes. His age
row is I|I|I

a) 30 - Inoresmvese cor b) 35

g 40 WWW.nOTESmeO0~T. cOM d) 45 ~

$5. A travels from B 5o C a distance of 250 miiles in 5.5 hours. He returs 0 B m
4 hours 40 minutes. His average speed is ’

a) 44 kY 44

gy 48 : d) 590

89. Ia a2 survey, it was found that 65% of the people watched news on TV, 40% read in
newspaper, 23% read Newspaper and waiched TV. What perceaiage of pecpis
ncixﬁer watched TV nor read newspaper?

a) 0% b) 3%

c) 0% ' o d) 20%

90. Ifthe circumierence and the ares of a circle are numericaily equal, then what is\l-he,
auen erical value of the diametar? ’ — "k |

T T ﬁ)( g ? :

o4 d) = Y,L'f’ <
91. The ratio between two numbers is 6:5. 1f30% of the first pumber is 12, what would
b= 60% of the second number
1) 12
c) 18
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92.

a)

c)

93.

17

An alloy of gold and silver weighs 50 gm contains 80% goly. pyop

should be added to the alloy so that amount of gold raises to %% h polg
sog b) 60g
3Cg d) 40g
A salesman averages Rs. 240 during a normal 40-hoir week. During a sale, his rateq
are increased by 50%. What is his commission if he puts ia 66 hours dwring the
sale?
3% b) 540
600 d) 640
A machine is sold at a profit of 10%. Had it been sold for Rs. 40 less, thers would
have be=a a Joss of 10%. What was the cost price?
Rs 178 kj Rs220
Rs 225 d) Rs250

Find 2 singls squivalent increass, if 2 number is successively increased by 3%, 10%

and 15% =, 1 x [
%3{ 73 V> ’t{"

12.8% b) 318% gﬂf—

38.2% d) 23.8% ‘! Y

2)
€)

Due to 2 price hike of 20%, 4 kg less sugar ars available for Rs.120. What is the

initial price per k3 of sugar?
Rs5/Kg b) Rs4/KE
Rs 8/Kg d) Rs5.5/Kg

If the equations 4x + 7y = 10 and {0 # ky = 25 represent coincidant linzs, then the
valuz ofk is

5 b) 172

212 4 352°°

"

B—
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How many different words can be formed out of the letters of the word

‘ST
.!\‘]‘:.LAH}\B}‘D in which vowels occupy the even places?
120 b) 60
90 ed}T440

If the radius of a circle is reduced by 4%, its circumference is reduced by
60%% b} 40%
13% d) 45%

how many such cubes are possible?

25 . oy 2

. —— an
27 | “1 ]\ 4
WV . RO TESMYFO0T.cOM "
v
:‘;’A ':\
0

A cube of edee 6 cm is melted and smaller cubes of edge 2 cm each are formed;

/
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